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Chapter 3 Practice Quiz AAT

Use synthetic or long division for #1-3.

1 (2 —4x* +2x+5)+(x-2) 2. (22° +7%% —4x+7) +(x* +2x-1) .
2X
A\ LT B X+ 2x~\ 2 A=A XA
\\/ 7 -y -4 > an X" -2x

-2X+7)

%"\'UX".B
| ~Z 2 L 2xX+3 + —8>m \\ —8x+ 10
Wz—2x—2+—x—: 2%

B, (2x3 +4x? —5)+(x+3) 4. Describe the transformations: y = —6(x+7)> -1
15) 2 A 0 =B refleth ovey X— XS
) -~ L -3 VDU
R LT
7 2 L |23 3

25
B—X —ZXF\ ><+3 |

5.1s x—4 afactor of 12x* —11x? +9x+187Howdoyou know?

412 -1 a1
o HD 148 W2y

2 31 15t [udu <« YW

6. Graph y=0.5 (x+3)2 -4 7. Find the equation of the graph below:
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8. Fully factor X043 2136+ 23 given that one factor is X— 5
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9. Fully factor 6x° +7x% -1 given a root is x = 1
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10. The area for Johnny’s farm uses the equation: f(x)= —~3x2 +125x +12 where x is the side length of the field. What
should Johnny make the field side length be if he wants to maximize the area of the field?
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a. What would the max area be?

F(20.8)=]1,214.09 | ,
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11. The cost equation for Mrs. Brown’s new business is ¢(x) = 4x* —72x + 3. How much should she try to pay for the
tank tops she sells in order to minimize her cost?
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